]

7108050
8208500

Item-nr. |Description A
0230200 |safety feed front Swedish 70/86x145cm | 0230205
0230280 |safety feed front Swedish 78/86x156cm | 0230285
0230300 |safety feed front Swedish 70/86x215cm | 0230305
0230380 |safety feed front Swedish 78/86x234cm | 0230385
0230400 |safety feed front Swedish 70/86x285cm | 0230405
— » | 0230480 |safety feed front Swedish 78/86x312cm | 0230485
= | 0230500 |safety feed front Swedish 70/86x355cm | 0230505
= | 0230580 |safety feed front Swedish 78/86x390cm | 0230585
use threaded strap for middle attachment
Item-nr. |Description Number
0457251 |threaded strap M10/76x105 mm galv. 2
8310100 |washer M10 (10x21x2) 4
8210500 |self locking nylon nut M10 galv. 4
7112070
8212500
7112090
8212500
Item-nr. |Description Number
7108050 |hexagon-head bolt M8x50 galv. 1
7112070 |hexagon-head bolt M12x70 galv. 2
7112090 |hexagon-head bolt M12x90 galv. 2
8208500 |self locking nylon nut M8 galv. 1
8212500 |self locking nylon nut M12 galv. 4
A Swed. sff, excl. fasteners 1
safety feed front Swedish
l Number: 0230xxx-0
s p I I l e r Unit: mm
Date: 30-6-2021

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.
No rights can be derived from this drawing.




§or 1400-1450

]
c‘ 600-650
N LA
] Min. 290
Vi

et 4
ca
e B R O B
a . . N
P a
a0 T . a
- -
e CLS. s
R | I ¢ P=0
<4,
e TR K .
3 a EOA
< ,a Py — 0
: SRR A ! : a l
a . . 1 Hy g . 4
a - . J R
a - .

assembly safety feed front Rubos

Number: 0230xxx-A

spinder ... -

Y HOUSING CONCEPTS Date: 7-6-2021

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




